SANY] NEA SHYR HASHY SEHIA (s3] Mo 1 Page
25-24-15 RE5000 13 40-135-8 | & D10 D13 D16 D19 D22 D25 D29 D32 D35
2 1 ™
L =}
B33 DW3-120 33| /&2 R2E 2 H10 H13 H16 H19 H22 H25 H29 H32 H35
=
s
=)
29.457 995.1 274.6
B
196.37
8.28
=
115.01 1,148.2 132.8
Al
é'l'
37.737 995.1 274.6
ES Al
196.37 115.01 1,148.2 132.8
1
2E(%)
EIESIIES
124 34
(=PI ES
144 17
49.755 17.849
ool
57.41 8.632
1,044.9 292.4
Al
1,205.6 141.4
.56 .995 1.56 2.25 3.04 3.98 5.04 6.23 7.51
SR
.56 .995 1.56 2.25 3.04 3.98 5.04 6.23 7.51
.585 .291
PIE=ESS
.675 141
3 3
LOSS(%)
3 3
38.114 .603 .3
) Al
196.37 115.01 .695 145




[BAIH] ASA SEHYJ MEHHLY SEIA - Hgcaa 22— M
B 25-24-15 RE5000 13 40-1358 |&| D10 D13 D16 D19 D22 D25 D29 D32 D35
B Et3s| DW3-120 38l/ae2 |2 |2 HI0 H13 H16 H19 H22 H25 H29 H32 H35
24.573 665.3 168.6
1
130.75 70.73 667.4 80
13.164 329.8 106
2
65.62 44.28 480.8 52.8
g | Con'C 37.737 SD 995. 1 274.6
H | Form 196.37 115.01|HD| 1,148.2 132.8
4 g |0




[SAE] ASAl

SLEA NHHHY SESA [SE] My F2EH2A- M
- 25-24-15 | RES00Q 13 40-135-8 | & | D10 D13 D16 D19 D22 D25 D29 D32 D35
= &3 OW3-120 | 33l/&et= R2E H10 H13 H16 H19 H22 H25 H29 H32 H35
19.614 665.3 168.6
1 130.75
9.843 329.8 106
2
65.62
g | Con'C 29.457 SD 995. 1 274.6
Al Form 196.37 HO




[SAE] ASA STYEI =y

==
= o

SAl [SH] M~ E2CHAA- M
_ 25-24-15 | RE500® 13 40-135-8 | & D10 D13 D16 D19 D22 D25 D29 D32 D35
=1
& 233 DW3-120 | 38//&2t= RIE 2| H10 H13 H16 H19 H22 H25 H29 H32 H35
4.959
1
70.73 667.4 80
3.321
2
44.28 480.8 52.8
& | Con'C 8.28 SD
Al Form 115.01| HD 1,148.2 132.8




SMHE

[SAE] MSAl SEER MACEY SF3A [SE] Mt SE - 1 Page
g 5= g & 3 &t £ A Z X
1 DS1 23¢2E 25-24-15  (3.46%7.92%0.15)*1 4.1
HEY DW3-120 (3.46%7.92)*1 27.4
aRHEZ D13 ( €7.92/(200/1000)» =40+( €(13/1000)*40%2) =1.04) )1 41.6
ot ZEZ D13 ( 7.92/(600/1000)» =14*( <(13/1000)*40%2) =1.04) )1 14.6
ARHE2 010 ( €3.46/(200/1000)) =18+7.92)*1 142.6
1 DS1 23¢lE 25-24-15  (8.85+7.92%0.15)*1 10.514
HEY OW3-120 (8.85%7.92)*1 70.09
SRHEZ 013 ( €7.92/(200/1000)) =40+( <(13/1000)*40%2) =1.04))*1 41.6
ot ZE =2 013 ( €7.92/(600/1000)) =14%( <(13/1000)*40%2) =1.04))*1 14.6
ARHE2 010 ( €8.85/(200/1000)) =45+7.92)*1 356.4
1 DSt 232 E 25-24-15  (4.2%7.92%0.15)1 4.99
HEE DW3-120 (4.2%7.92)*1 33.26
aeAEZ D13 ( €7.92/(200/1000) ) =40+( €(13/1000)*40%2) =1.04) )1 41.6
otRE o ZEZ D13 ( €7.92/(600/1000)» =14*( <(13/1000)*40%2) =1.04) )1 14.6
ARHHE 2 010 ( €4.2/(200/1000)) =21%7.92)*1 166.3
2 DS 232l E 25-24-15  (2.955+%7.495%0.15) 1 3.322
HEY OW3-120 (2.955%7.495) 1 22.15
SRHEZ D13 ( €7.495/(200/1000)) =38*( €(13/1000)*40%2) =1.04))*1 39.5
SteEAHzEZ 013 ( €7.495/(600/1000)) =13*( €(13/1000)*40%2) =1.04))*1 13.5
ARHE2 010 ( €2.955/(200/1000)) =15%7.495)1 112.4
2 DSt 23elE 25-24-15  (5.8%7.495%0.15)*1 6.521
HEY DW3-120 (5.8%7.495)*1 43.47
afAEZ D13 ( €7.495/(200/1000)) =38+( (13/1000)*40%2) =1.04))=1 39.5
SteotzE2 D13 ( €7.495/(600/1000)) =13+( €(13/1000)*40%2) =1.04))=1 13.5
ARHEZ 010 ( €5.8/(200/1000)) =29+7.495)*1 217.4




[SAIE] ASAl S22 HEHSs SESM [(SY] M=o 9 - 2 Page
s 575 g & 3 & £ A Z X
2 PAR/T150 Z3elE 25-24-15  (8.6%(0.9)*0.15)+1 1.161
HEH(U=) S2E (8.6%(0.9))*1 7.74
HEH (=) S2E (8.6%(0.9))*1 7.74
WE=FSp H10 ( (8.6/(200/1000)) =43%0.9)*1 38.7
QE4Z2 H10 ( (8.6/(200/1000)) =43%0.9)*1 38.7
Ws4m2 H10 ( €(0.9)/(250/1000)) =4x8.6)*1 34.4
ST H10 ( €(0.9)/(250/1000)) =4x8.6)*1 34.4
SEZAYZ H13 2+8.6%1 17.2
HE422 3= H10 (8.6/(200/1000)) =43+0.2x1 8.6
A&4HZ I H10 (8.6/(200/1000)) =43+0.2+1 8.6
Ws4+32 3= H10 €(0.9)/(250/1000)» =4=(1)* €(10/1000)*35) =0.35 1.4
AS4T2 I H10 €(0.9)/(250/1000)» =4=(1)* €(10/1000)*35) =0.35 1.4
SEHEAZ IFF H13 {(2%1)+(2%0)) =2+ ((13/1000)*35) =0.46 9
2 PAR/T150 Z3eIE 25-24-15  (6.37%(0.9)0.15)*1 .86
HEH(U=) S2E (6.37%(0.9) ) *1 5.73
HEH (=) S2E (6.37%(0.9) ) *1 5.73
HEs4=a2 H10 ( €6.37/(200/1000)) =32+0.9)*1 28.8
QE4E2 H10 ( €6.37/(200/1000)) =32+0.9)*1 28.8
Hs4m2 H10 ( €(0.9)/(250/1000)) =4%6.37)*1 25.5
AE4+T2 H10 ( €(0.9)/(250/1000)) =4%6.37)*1 25.5
SEZYZ H13 2+6.37+1 12.7
HE422 3= H10 (6.37/(200/1000)) =32+0.2+1 6.4
AE4E2 HF H10 (6.37/(200/1000)) =32+0.2+1 6.4
Ws4+32 3= H10 €(0.9)/(250/1000)» =4*(1)* €(10/1000)*35) =0.35 1.4
AS4T2 I H10 €(0.9)/(250/1000)» =4=(1)* €(10/1000)*35) =0.35 1.4
SEIAZ I H13 {(2x1)+(2%0)) =2% ((13/1000)*35) =0.46 9
2 PAR/T150 Z3eIE 25-24-15  (1.775%(0.9)%0.15)*1 .24
HEH(US) S2E (1.775%(0.9) ) *1 1.6
HEZ(2U=) R2E (1.775%(0.9) ) *1 1.6
Es4a2 H10 ( €1.775/(200/1000)) =9%0.9)*1 8.1
QE4Z2 H10 ( €1.775/(200/1000)) =9%0.9)*1 8.1
Hs2+52 H10 ( €(0.9)/(250/1000)) =4x1.775)*1 7.1
AE4+T2 H10 ( €(0.9)/(250/1000)) =4x1.775)*1 7.1
SEZYZ H13 2%1.775%1 3.6
Ws4+22 3= H10 {1.775/(200/1000)) =9+0.2%1 1.8
AE4H2 H10 {1.775/(200/1000)) =9+0.2%1 1.8
Ws4+32 3= H10 €(0.9)/(250/1000)» =4=(1)* €(10/1000)*35) =0.35 1.4




SMHE

[SAIE] ASAl S22 HEHSs SESM [(SY] M=o S 3 Page
s 575 g & 3 & £ A Z X
AE4T2 I H10 €(0.9)/(250/1000)» =4=(1)* €(10/1000)*35) =0.35 1.4
SEIAZ I H13 {(2x1)+(2%0)) =2% ((13/1000)*35) =0.46 9
2 PAR/T150 Z3eIE 25-24-15  (7.85%(0.9)0.15)*1 1.06
HEH(U=) S2E (7.85%(0.9))*1 7.07
HEZ(2U=E) R2E (7.85%(0.9)) 1 7.07
Es4a2 H10 ( (7.85/(200/1000)) =40%0.9)*1 36
QE4Z2 H10 ( (7.85/(200/1000)) =40%0.9)*1 36
Hs+52 H10 ( €(0.9)/(250/1000)) =47.85)*1 31.4
AE4T2 H10 ( €(0.9)/(250/1000)) =47.85)*1 31.4
SEZYZ H13 2+7 .85+ 1 15.7
Ws4+=2 3= H10 (7.85/(200/1000)) =40+0.2+1 8
AE4H2 H10 (7.85/(200/1000)) =40+0.2+1 8
Ws4+32 3= H10 €(0.9)/(250/1000)» =4=(1)* €(10/1000)*35) =0.35 1.4
AE4+T2 HH H10 €(0.9)/(250/1000)) =4(1)* €(10/1000)*35) =0.35 1.4
SEIAZ I H13 {(2x1)+(2%0)) =2% ((13/1000)*35) =0.46 9
1 W1 =Z32IE 25-24-15  (5.2%(4.6-0.15)*0.15-1.321)1 2.15
HEFH(US) S2E (5.2%(4.6-0.15)-8.808+2.064)*1 16.4
HEF(AS) S2E (5.2%(4.6-0.15)-8.808) *1 14.33
Es4a2 H10 ( €5.2/(200/1000)) =26+4.6-44.03)*1 75.6
AE4Z2 H10 ( ¢5.2/(200/1000)) =26+4.6-44.03)*1 75.6
Hs+52 H10 ( €(4.6-0.15)/(250/1000)) =18%5.2-35.23)*1 58.4
AE4T2 H10 ( €(4.6-0.15)/(250/1000)) =18%5.2-35.23)*1 58.4
S2HEA2 H13 2#5,2x1 10.4
Ws4+=2 3= H10 (5.2/(200/1000)) =26%0.2+1 5.2
AE4H2 HF H10 (5.2/(200/1000)) =26%0.2+1 5.2
Ws4+Z2 3% H10 ((4.6-0.15)/(250/1000)) =18*(1)* ¢(10/1000)*35) =0.35 6.3
AE4+T2 I H10 ((4.6-0.15)/(250/1000)) =18%(1)* ¢(10/1000)*35) =0.35 6.3
SEIAZ I H13 {(2x1)+(2%0)) =2% ((13/1000)*35) =0.46 9
HRet +HEY H13 ((5.181+(2%40d) ) %2) * 1x1 12.4
Hret 2L H13 (((1.7+40d)%2) %2) * 1% 1 8.9
HPET A2 H13 (((40d%2)%2)*2) *1%1 4.2
1 W1 =321 25-24-15  (6.8%(4.6-0.15)%0.15-1.73) 1 2.809
HEZ(U=) S2E (6.8%(4.6-0.15)-11.531+2.545)*1 21.27
HEF(AS) S2E (6.8+(4.6-0.15)-11.531)*1 18.73
Hs422 H10 ( 6.8/(200/1000)) =34x4.6-57.65)+1 98.8
AE4ZE2 H10 ( 6.8/(200/1000)) =34x4.6-57.65)+1 98.8
Hs4+32 H10 ( €(4.6-0.15)/(250/1000)) =18+6.8-46.12)*1 76.3




[S8] MEcad S8 - 4 Page

&t £ 4 Z X
( €(4.6-0.15)/(250/1000)) =18+6.8-46.12)+1 76.3
2%6.8x1 13.6
(6.8/(200/1000)) =34*0.2x1 6.8

(6.8/(200/1000)) =34*0.2x1 6.8

((4.6-0.15)/(250/1000)) =18*(1)* ((10/1000)*35) =0.35 6.3

((4.6-0.15)/(250/1000)) =18*(1)* ((10/1000)*35) =0.35 6.3

((2%1)+(2%0)) =2+ ((13/1000)*35) =0.46 9

((6.783+(2%40d) ) *2) * 1*1 15.6
(((1.7+40d)*2)*2)* 1%1 8.9

(((40d*2)*2)*2)*1%1 40




